

1. (a) A sequence is an ordered list of numbers whereas a series is the *sum* of a list of numbers.

(b) A series is convergent if the sequence of partial sums is a convergent sequence. A series is divergent if it is not convergent.

21. $\sum_{n=1}^{\infty} \frac{1}{2n} = \frac{1}{2} \sum_{n=1}^{\infty} \frac{1}{n}$ diverges since each of its partial sums is $\frac{1}{2}$ times the corresponding partial sum of the harmonic series

$\sum_{n=1}^{\infty} \frac{1}{n}$, which diverges. [If $\sum_{n=1}^{\infty} \frac{1}{2n}$ were to converge, then $\sum_{n=1}^{\infty} \frac{1}{n}$ would also have to converge by Theorem 8(i).]

In general, constant multiples of divergent series are divergent.

23. $\sum_{k=2}^{\infty} \frac{k^2}{k^2 - 1}$ diverges by the Test for Divergence since $\lim_{k \rightarrow \infty} a_k = \lim_{k \rightarrow \infty} \frac{k^2}{k^2 - 1} = 1 \neq 0$.

24. $\sum_{k=1}^{\infty} \frac{k(k+2)}{(k+3)^2}$ diverges by the Test for Divergence since $\lim_{k \rightarrow \infty} a_k = \lim_{k \rightarrow \infty} \frac{k(k+2)}{(k+3)^2} = \lim_{k \rightarrow \infty} \frac{1 \cdot (1+2/k)}{(1+3/k)^2} = 1 \neq 0$.

34. $\sum_{n=1}^{\infty} \frac{e^n}{n^2}$ diverges by the Test for Divergence since $\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \frac{e^n}{n^2} = \lim_{x \rightarrow \infty} \frac{e^x}{x^2} \stackrel{H}{=} \lim_{x \rightarrow \infty} \frac{e^x}{2x} \stackrel{H}{=} \lim_{x \rightarrow \infty} \frac{e^x}{2} = \infty \neq 0$.

47. $\sum_{n=1}^{\infty} \frac{x^n}{3^n} = \sum_{n=1}^{\infty} \left(\frac{x}{3}\right)^n$ is a geometric series with $r = \frac{x}{3}$, so the series converges $\Leftrightarrow |r| < 1 \Leftrightarrow \frac{|x|}{3} < 1 \Leftrightarrow |x| < 3$;

that is, $-3 < x < 3$. In that case, the sum of the series is $\frac{a}{1-r} = \frac{x/3}{1-x/3} = \frac{x/3}{1-x/3} \cdot \frac{3}{3} = \frac{x}{3-x}$.

48. $\sum_{n=1}^{\infty} (x-4)^n$ is a geometric series with $r = x-4$, so the series converges $\Leftrightarrow |r| < 1 \Leftrightarrow |x-4| < 1 \Leftrightarrow$

$3 < x < 5$. In that case, the sum of the series is $\frac{x-4}{1-(x-4)} = \frac{x-4}{5-x}$.

49. $\sum_{n=0}^{\infty} 4^n x^n = \sum_{n=0}^{\infty} (4x)^n$ is a geometric series with $r = 4x$, so the series converges $\Leftrightarrow |r| < 1 \Leftrightarrow 4|x| < 1 \Leftrightarrow$

$|x| < \frac{1}{4}$. In that case, the sum of the series is $\frac{1}{1-4x}$.

50. $\sum_{n=0}^{\infty} \frac{(x+3)^n}{2^n}$ is a geometric series with $r = \frac{x+3}{2}$, so the series converges $\Leftrightarrow |r| < 1 \Leftrightarrow \frac{|x+3|}{2} < 1 \Leftrightarrow$

$|x+3| < 2 \Leftrightarrow -5 < x < -1$. For these values of x , the sum of the series is $\frac{1}{1-(x+3)/2} = \frac{2}{2-(x+3)} = -\frac{2}{x+1}$.

51. $\sum_{n=0}^{\infty} \frac{\cos^n x}{2^n}$ is a geometric series with first term 1 and ratio $r = \frac{\cos x}{2}$, so it converges $\Leftrightarrow |r| < 1$. But $|r| = \frac{|\cos x|}{2} \leq \frac{1}{2}$

for all x . Thus, the series converges for all real values of x and the sum of the series is $\frac{1}{1-(\cos x)/2} = \frac{2}{2-\cos x}$.